MULTIPLICATION

A COUNTING BY 2S

Discover: How many eyes are there ?
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Answer: YOu can count by 2s: 2, 4, 6, 8, and 10 eyes.
Proposition Counting by 2s
0|1(2|3[4|5]|]6]|7 9 (10(11(12(13|14|15|16|17(18(19(20
B COUNTING BY 5S
Discover: How many cubes are there ?
Answer: You can count by 5s: 5, 10, and 15 cubes.
Proposition Counting by 5s
0|1(2(3[4]|5]|6]|7 9 (10(11|12(13|14|15|16|17(18(19(20
C COUNTING BY 10S
Discover: How many cubes are there?
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Answer: You can count by 10s: 10, 20, and 30 cubes.
Proposition Counting by 10s
0|1]2((3|]4(|[5]|6|7 911011 (12]13(14|15(16|17|18|19| 20




	Multiplication
	Counting by 2s
	Counting by 5s
	Counting by 10s


